Web

PDF 2022 9
56 RiER SECHER sHLAdE » www.iwata-fa.jp
7R N\
BB o E@w
ARIVI—bRtEY bHS— riton (0] @ ,

LEHRINCKD Y+ T MMCEE L THBEVWEEITE T,
IHREIONZFRA LTI STy ROBRDMIP Yy MAS—DEENTEX T,

50201202 502“257’2\
& g &g

’9;\&\! "(S&\i

\
2t o )
By BEMR_ o TILAYF SUS304
HERLS ME RENIE & MBI
$% S45C B NANFED X (K IZHE BEo) 2K —
M | §% S45C /BB =TI Ay¥ | RANRMIESD X ¥ (< 1A% SUSXM7) 2K sc 0306P2
S | ZF>LX SUS304 ANARMESD X T (K I1F A% SUSXM7) 274
AE3mm, i@6mm, B
L+0.1 B{L © mm
L/2
2-M  (90°)

- @ e

o T

H N |

a m

< <

sc O

" B&5MIL S SRR

iwata »P.123 »P.124




PDF 2022 9 Web

»P.698 »P.754 »P.754 57

i VN fii4& (F9)
Mz E | s O aE ) P
¢B L #D | s | PCD. M LI mERS RED | | SUSS4
c (1] 5]
3 6 17 3.4 11 *M3x3 SC 0306 P2 270 290 400
4 6 18 3.4 12 *M3 X3 SC 0406[ P2 270 290 400
5 10 22 4.5 15 *M4 x4 SC 0510[_|P2 310 330 500
6 10 22 45 15 M4 X 4 SC 0610 P2 310 330 500
8 10 24 45 17 M4 X 4 SC 0810[_]P2 330 350 550
10 10 26 4.5 19 M4 x4 SC 1010[_]P2 330 350 550
12 12 32 55 23 M5 X 6 SC 1212[ P2 420 440 710
13 12 33 55 24 M5 X 6 SC 1312[ P2 420 440 710
15 12 35 55 | 26 M5 %6 SC 1512 P2 460 550 820 27fs
16 12 40 6.6 28 M6 X 6 SC 1612[_|P2 460 550 820
20 12 44 6.6 32 M6 X 6 SC 2012[ P2 550 600 1,200
25 15 50 6.6 37 M8X 8 SC 2515 P2 710 770 1,420
30 15 55 6.6 42 M8x 8 SC 3015 P2 770 880 1,750
35 15 60 6.6 47 M8x8 SC 3515 P2 1,040 1,150 1,970
40 20 70 9 55 M10x12 SC 4020 P2 1,370 1,530 3,270
50 25 86 11 68 M10x12 SC 5025 P2 1,860 2,080 4,580

KENEED RN —RELNET,

4
’

iwata



